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1= i 4 Sk PR (kg) wH (1) i i e | PE (H{L)
Y3002 = A (EAT) ! 588 540 540 119 55N kg
Y3003 49 5 HOF 22| 1,122 216 178 124 | BN 29kg
3001 L9 () 6 3,888 648 648 648 A bkg
31800 [EShAK 16 3,512 a3 43 43| BN 823
31900 X . R 5 210 54 54 54BN Skg
36800 5o X k9 8 5, 184 648 648 648] 5N Skg
34400 bv k 56 16, 330 313 292 238| BN 56k
31460 I=LE L 6 3,996 020 702 594 B Gky
34200 I 17, 2,387 1400 140 140 B 17kg
Y3026 A7 EAAL D () ’ 4 1,728 432 132 132 B dkg
35402  AXFED 1 3,024 756 756 756 | 51N 1kg
36200 rEfA% 82 12, 236 151 151 140 | BN 82kg
36260 (2 L7 1, 560 273, 456 2, 160 1,620 1,620 k5N 1564 — A
36600 tizh—g R 25 1,836 8 65 65N 25kg
13900 b - 7 14 10,130 270, 216)  1T3|BN 45397
46108 XAUFOMHE 35 33, 674 356 324 216| B 1153y
21030 KJ & 1, 089 121 121 121 BN 9
71030 FIt&F E 110 41 11 14 BN L0A
21160 BF (i) ' 11, 858 14 33 22| B 13647K v k
71286 Za—A 1 7,590 110, 99 7B 80A
71294 55— 132 1 mi MR 34
71316 HA T 39 6 6 61N TR
Y5010 obAx (#) 10 4, 255 540 378 378 BN 10kg
30100 72V Z A B R 80 1,393 216 173 108 | B8 B 84— R
30300 A% L 30 6,156 2,052] 2,052 2, 052 34— %
130300 AB B 90 10,368 1,296 1,188 1,080 FElE 94— 2
33810 FfdE 4 216 11 11 11 FENE S 2048
37440 b 2 896 896 | 896 896 | i |17 —2A
Y5005 47k 10 3,132 1,566 1,566 1,566 k% 24— =%
31700 Xy~ 50 9,180 1,836/ 1,836  1,836/fEA 54— A
31700 F 4y 300 7,193 5100 216 130 BEWLE 304 — &
31800 (E9MAL 1 1,512 6 76 76 REWE 204%
31950 (X 3L 15 2,376 648 432 432 FEVL 54— A
31900 ¥ M 5| 1,080 108 108 108 BEUE 104 (500g)
32800 (25 3 1,026 43| 43 20/ ET I 304
34300 72 2L 20 8,100 2,268 1,944 1,944 fEA 44— 2
31400 b b i 9 4,212 140/ 140 140 3045
34400 k< I B 20 2,700 540 540 540 FE I B 55— A
31460 I =k F b S 5 3,629 151 151 151 5 V2 B 24,8y 7
34100 H1IK 35 6,750 1,080 972 | 702 B IR T — A
34100 @ L 10] 3,240, 1,620 1,620 1,620 FEULES 2r—2A
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a—F it 4 Sk PR kg) @B = hi il | e | PE M (%Eﬁ)
34200 L - 1 10 7,020 184 73] 1m3|=a—v— |[40ke
, 7K
34500 E—- 17 9,839 108 92 76 BV 11348
34520 JRE—-w A L 2 2,700 2,700 2,700 2,700 ' I 17— A
34571 N U T () 2 1,944 194 194 194 | 5[5 101/
34572 ST U A () 2 1,944 194 194 194 | 4 [H 101
36600 7= EiX LK 160 14, 580 1,944 1,944 1, 620 JbifEiE 87— A
37200 Lk on 2 L 4 3, 456 3, 456 3, 456 3, 456 | Ik 17—
37200 L x9N 2L 8 3,672 2,052 2,052 1,620 [ 24— R
33420 U — ) —T LA L 30 1,296 1,296 1,296 1,296 | fif] 17— A
33600 /&Y 1 162 54 54 54 fiH RES
31310 3K } 4 648 65 32 32 fi lif] 204%
31500 /A ) 12 1,944 32 32 32| ] 604
32500  AoiE 4 648 22 22 11| &) 40%
32500 AolE 1 972 972 972 972 K%y 1r—=
37560 kBB 1 2,322 356 356 162 K5y 88 7
38400 X DEH 5 1, 404 1, 404 1, 404 1, 404 | i 17—
38521 SR L& UIH 9 6, 480 92 92 32|t 904%
11460 H & 10 1,674 864 864 810 B IR 27— A
42314 ) ) F—)L R ' 30 6, 696 2,376 2, 160 2, 160 # & 37— A
Y4022 YT a 20 4, 968 2, 484 2,484 2, 484 | 4% 24— A
46000 1 T 22 12, 150 216 173 19 EIRE T4ty
46108 X MEONEE 10 4,320 162 119 119 &= g 32,3y
Y4047 HEB D L 17 12, 204 324 216 216 | £ i 56/% > 7
48000 47U M 10 3, 456 1,728 1,728 1, 728 HEA C2fA
47420 T T R A 11 1,987 140 140 108 | BE & 16
49100 3 FF 120 17, 820 1,944 1,728 1,728 74 U Y 107 — A
|
49300 F 4 T— 5 3,564 3,561 3, 564 3, 564 | f [ El*f—x
arat 3,093 604, 823 | { i
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